Precalcdusy Uit 7 Homework—Vectory in the Plane

1) Find and draw the vector v with initial point P and terminal point Q. Also find the magnitude of v.
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2) Show work to determine if the vector v with initial point (p1, p2) and terminal point (g1,92) is equivalent to

vector w with initial point (#1,/2) and terminal point (s1,52)
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3) Given the vectors u =(-1,7), v=(3,~1), find the following:
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4) Find a un’t vector in the direction of the following vectors and show that it has length 1.

a) v= s.—15> b) v=(3,0) Q) v=(-4~2,-2)
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5) Let u >e the vector with initial point (1, —8) and terminal point (=1, —5) and let v = 3i — 4j. Write the
following as a linear combination of i and j. —= -
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Write the vector v given its magnitude and direction angle.

a)|[v|=6 0=45° b) [v|=12 ©6=240° ¢) [v/=10 6 = direction of 6i — 2j
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7) A plane is flying on a bearing of 295° at 360 mph. A wind is blowing with the bearing 320° at 38rnph

i a) Write a vector (in component form) of the velocity produced by the airplane alone.
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b) Write a vector (m component form) of the Velomty of the wind.
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¢) Write a vector (in component form) of the actual velocity of the plane.

v=_4-35070 , 181.75)

] d) Find the actual speed and direction angle (not the beaung) of the plane.
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8) A boat is traveling at a bearing of 95° at 25 mph for 2 hours, then it changes direction to a bearing of 135° for
3 hours. What is their bearing and distance from the original starting place?
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9) FFind the vector projection u onto v. Then write u as a sum of two orthogonal vectors, one of which is projvu
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